F46E BEEERFEVFYYI—KE

BEF—L EERESC Ei#

L-1-3
NO| F— L | ¥¥oFC |Egsyn—X[ N2SC RiEsC | 7o—XsC | KEFFC | #ERESC | B | & | 5 |BA|B8A| L& wxz| Ik
i | gHore]  wn i (3 s : s (3 ol : i : 2o : Jzlelo]ef7]e|e]s
2 | BEXvH—X ) : 5 Wk ) : sl o é ol 2 : 5| o : ol o : ; o] 511 1 6 | 29 |-23| 7

A
3 N2SC 2 C—) 0] 3 C—> 2 okl 0 — o]t : 5 1 : 3]0 : 3 o I R I I I I
A A

4| KIFSC o : o — olo = o %% o : oo : ol : S0 4fz] 2] |z e
5 | 7a—XSsc 5 C_) ols C_> 2| s C_) s C_> o * ¥ o : .o : ) 41 2]o]12|17| 7 ]10] 3
5 | REFFC 3 C—) 09 C—> 0fs C—) 1]6 C—> 0f 2 C—) 0 o 0 : 1 NN
7 |#EIEFEESC . C_) ol - C_> ol s C_) ol 2 C_> s C_) ol C_> o ¥ 6]0]o]18]19] 1]18]1

L-1-3 9 A 23 B (#) JS5UF%4 FERAA)BEKIG
No| FuUA T ¥ & U — T IE | BIFE | 3IF
1| 1400 HHUFC 5 — 2 | BBEXvh—X | XEF | N2sCc | XKiF
2| 14:50 N2SC 0O — 0 KIESC 4y | ¥y | 7A—X
3 15:40 7HBa—XSC o — 2 RKEFFC 232 PN
4 16:30 KIFSC 0o — 2 HH2FC 7O0—X| XEF | N2SC

L-1-3 10 A 11 B (X) TS84 RS AEG
No| FwihAT ¥ &8 Y — 5 FE BlE BlE
1 9:00 KIESC 0 — 0| BEFEXYH—X | EEA |70-X| ¥
2 9:50 1 EIRESC 2 - 0 7O—XSC Kig | BEE | Na2sc
3| 1040 N2SC 1 — 3 KXKEFFC 7O—X| $Hy | K&
4] 11:30 TR RESC 4 - 0 HHUFC N2SC | KEF | #&iF
5[ 12:20 N2SC 3 — 2| BEXYH—X | ¥y | BB | KEF
6| 13:10 KEFFC 3 - 0 HHUFC #wE | Nnesc | EE

L-1-3 10 A 26 B (H) TS84 RiRAABEG
No| FwihAT ¥ &8 Y — 5 FE BlE BlE
1 9:50 N2SC 2 - 0 HHFC K |7o—x| ZE
2| 10:40 1 ERESC 2 — 1 KiESc N2sC | Y | 7E—X
3| 11:30 HHUFC 0O — 5 7O—XSC ZE | XB | XEF
4l 12:20 1 ERESC 3 -0 N2SC B | KEF | Y
5[ 13:10 KXEFFC 6 — O KIESC 4y | gE 3
6| 14:00 7HAa—XSC 5 — 2 | BEXvYH—X | XEF | N2sC | K

L-1-3 11T A 1 B (%) J5UF4% FERKEIEKMG
No| oA ¥ E ) = 9 FE | BIE [ 3FE
1 9:00 KEFFC 9 — 0| BEXYH—X | B | X |70-—X
2 9:50 7HAa—XSC 2 — 0 KIESC EE | FE | XEF
3| 10:40 ¥ ERESC 7 — 0| EFx+vyh—X |7o—X| N2sc | K
4 11:30 70Aa—XSC 5 — 1 N2SC KEF | B3 | z2E
5] 12:20 1 RIRESC 1 — 0 KEFFC N2SC |7o—X| @iE




